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‘ ¥ ¢ the end of another ho,lJ: lerm. Another ho,lf lerm of me ~ : 5 __: €

s-l-nv cnnl missing your haPPH, smileﬂ faces. Bu,t, I know thal

you are all staﬂing home and sfo,\Ljing safe, so that makes me a little

happier!

Asil's FridaH leb's stark the daﬂ with o dance. Find your fo,vourike video on \jusk dance lo
dance along lo. Tam 9oing lo do this one...George Picked it Lodag!

hHTIDSI //WWW.HOU[TUBG.COTTI/WOITC h?V:OG_H chdmno,M

NOW we are readﬂ JIOF some [eorning. First UP, we hOVC mOH'tS.

You have done some fcmtashc work on money this week and I have loved seeing evergth'mg
that you have been doing. Remember fo |<eeP Pro,chsing, even when we aren | Focusing on ik

Moneﬂ is used all of the hme, so it is reaHH important that we are conpdent when us'mg 13

/\fter O,u UOUF hard WOFI( in mO,H’IS H"liS wee|<, I WOU,ld li|<e HOU, kO now ITH LO SO[VG some

Problems. Tl’lel:j Wi” help UOU when UOU 80 into a ShOP LO bUH H’»ings, SO h’g FGOHH ho,rd.

Choose a chilli cha“enge for your clu,eshons todaﬂ.


https://www.youtube.com/watch?v=oe_HDfdmnaM

. Janet buys a pen for 14p and a rubber for 12p. How much does she spend?

: ]

. Alex gives his friend 15p. He is left with 10p. How much did he have to
begin with?

( )

. Hamed buys an apple for 16p. He pays with a 20p coin. How much change
does he receive?

{ )

. Tomas is given 20p by a friend. He had 13p already. How much does he
have now?

( )

. Alma has three 10p coins. She buys a bottle of water for 18p. How much
money will she have left?

( ]

. Nura has four coins. She has 12p. What coins must she have?

! )

. Ian spends 23p on a packet of crisps. He gets 17p change. How much did
he give to the shopkeeper?

( )




. Janet buys a pen for 34p and a rubber for 22p. How much does she spend?

( )

. Alex gives his friend 35p. He is left with 20p. How much did he have to
begin with?

( )

. Hamed buys some apples for 76p. He pays with a £1 coin. How much
change does he receive?

( )

. Tomas is given 45p by a friend. He had 38p already. How much does he
have now?

( )

. Alma has four 20p coins. She buys a bottle of water for 58p. How much

money will she have left?

( )

. Nura has four coins. She has 36p. What coins must she have?

( )

. Ian spends 23p on a packet of crisps and 41p on a drink. He gets 36p
change. He gives the shopkeeper 2 coins. What were the coins?

( )




. Janet buys 2 pens for 34p each and a rubber for 22p. How much does she
spend?

[ )

. Alex gives one friend 35p and the other 45p. He is left with 40p. How
much did he have to begin with?

( )

. Hamed buys some apples for 76p and pears for 49p. He pays with a £2
coin. How much change does he receive?

{ )

. Tomas is given 65p by a friend. He now has £1.08. How much did he have
before his friend gave him some money?

( )

. Alma has three 50p coins. She buys two bottles of water for 62p each.
How much money will she have left?

( )

. Nura has four coins. She has 77p. What coins must she have?

{ )

. Ian spends 43p on a packet of crisps and £1.08 on a drink. He gets 19p
change. He gives the shopkeeper 3 coins. What were the coins?

( )




Our next lesson is English.

This week you have been Pro,chsing your poem. Todaﬂ, I would like you lo answer the

CiU,eShOI’IS Ol)OU,L H’IC Poem

The Night Will Never Stay

The night will never stay,
The night will still go by,
Though with a million stars
You pin it to the sky:
Though you bind it with the blowing wind
And buckle it with the moon,
The night will slip away

Like sorrow or a tune.

Eleanor Farjeon

. Can you find hwo rhﬂming words?

2. Wh}j will the nigM sliP awaﬂ?

3. What does bind mean?

k. What time of do,U does the poem refer bo?

5. HOW mo,nU SEOJ'S are in H1e Sl(l\.jp



Our final lesson is PSHE.
All o Hhis week, we have been focussing on KENDNESS, os part of Menkal Health Week

Auhough todaH is Frlclo,H, it doesn't mean we \just stop Hunkmg aboul it now.

So your cha”enge is fo creale o ‘Kindness Jar.” :[nslde, you put in lobs of different ideas of Hmings
that you, or someone in your house could do to be kind. I} could be Hungs like...

Give mom a hug.
Go for a walk and pick up the litter along the way,
Share my chocolate with my ramily.
Help my dad lo clean the car.

Then each daH, over half term, you P'Lc|< out a kind Hl'mg lo do and complete lL knowlng that you are
clo'mg somefhing kind. @

Don't forget lo share some Pictures of your ideas with me too. I am go'mg to be making one with

George o,nci HarrH, SO I neecl some gOOd ideas.

20 ACTS OF KINDNESS
for siblings
KINDNESS Read them a story

& Help tidy their room

beglns Let them go first

. Make their bed

w;ih Say please and thankyou

Play their favorite game

Help with one of their chores .

Help with their homework
Put their toys away
Get their coat

Do ajigsaw together

Tell each other jokes

Hug each other

Listen to your sibling

Make a snack for the other

Be patient with them

Say thankyou

Give them a compliment

Let them choose what to watch on TV
Be kinder than you need to be




Maths answers

Money Word Problems
Answers

. Janet buys a pen for 14p and a rubber for 12p. How much does she spend?

. Alex gives his friend 15p. He is left with 10p. How much did he have to
begin with?

5p, 5p, 1p, 1p

. Ian spends 23p on a packet of crisps. He gets 17p change. How much did
he give to the shopkeeper?

40p




Money Word Problems
Answers

. Janet buys a pen for 34p and a rubber for 22p. How much does she spend?

. Alex gives his friend 35p. He is left with 20p. How much did he have to
begin with?
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. Alma has four 20p coins. She buys a bottle of water for 58p. How much
money will she have left?

. Nura has four coins. She has 36p. What coins must she have?

20p, 10p, 5p, 1p

. Ian spends 23p on a packet of crisps and 41p on a drink. He gets 36p
change. He gives the shopkeeper 2 coins. What were the coins?

Money Word Problems
Answers
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50p, 20p, 5p, 2p
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. Ian spends 43p on a packet of crisps and £1.08 on a drink. He gets 19p
change. He gives the shopkeeper 3 coins. What were the coins?

£1, 50p, 20p




Remember o continue to do your dailﬂ reo,cling.

Mrs Marlin




